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PART A: Vocabulary

.Directfmrs: Choose the word or phrase (1), (2), (3), er (4) that best completes each |

sentence. Then mark your answer sheet.

1- Being an honest person, she was unwilling to --——------- Peter in the swindle he had
planned.
1) confirm 2) abet 3) jeopardize 4) impede

2- The girl is surrounded by so many possessions that testity to her family's —--——--- .
|) opulence 2) activism 3) propensity 4) elitism

3- The physician advised the —--——-- man to lose weight if he wanted to not be afflicted
with different medical complications.
1) craven 2) sturdy 3) immense 4) obese

4- Enlightened slave owners were willing to --—--—-—-- their slaves and thus put an end to
the evil.
1) initiate 2) emancipate 3) efface 4) reject

5- One of the most striking aspects of Indian cultures was the production of ceremonial
costumes and ornaments worn during religious ---------- .
1) rituals 2) subtleties 3) fashions 4) prefaces

6- The Clarks’ ----eeeeee spending habits have put them in debt.
1) extemporaneous 2) divisive 3) extravagant 4) passionate

7- The people who had lost their homes in the fire tried to =——-seaee- whatever was
salvageable from the ruins of that fire.
|) confront 2) extinguish 3) exclude 4) glean

8- The new study will test different doses for safety. And scientists should be able to tell if
the antibodies -—--—-- some of Alzheimer’s devastating mind-robbing symptoms.
1) emerge 2) predict 3) alleviate 4) precede

9- Coaches often tell their players that a little nervousness is good because it keeps them
on their —---—-—,

1) limbs 2) toes 3) fingers 4) leet
10- Without liquids or food, people typically -~ after 10 to 14 days.
1) diminish 2) recede 3) falter 4) perish

PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best

[fits each space. Then mark your answer sheet.

Like most people. students tend to be overconfident about newly learned skills. This self-
assessment problem can occur because the common educational practice of “massed training™

promotes rapid acquisition of a skill—and self-confidence—but (11) ---------- retention of that
capability. In mass training, instructors teach students in one or a few intense sessions,
Students (12) ---------- such instruction quickly obtain the relevant knowledge. Yet skills taught
in this way tend to decay rapidly, (13) —--=------ people remain unaware of this fact. (14) -—-------
more evident than in driver education. Although millions of dollars (15) ---------- on such
courses, they do not, the data suggest, produce safer drivers.
11- 1) not necessary for the 2) necessarily none of the

3) not necessarily the 4) for no necessary
12- 1) undergo 2) undergone 3) by undergoing 4) undergoing
13- 1) although 2) however 3) so that 4) then



14- 1) Nowhere might this problem be 2) This problem nowhere might be
3) Nowhere might be this problem 4) Nowhere this problem might be
15- 1) spent 2) are spent 3) being spent 4) that are spent

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions based on what is

stated in the passage by choosing the best chaeice (1), (2), (3), or (4). Then mark the correct
choice on your answer sheet.

16-

17-

19-

20

Passage I:
Electrochemical engineering can be considered as a daughter of chemical engineering, whose

first significant development occurred during World War II. Before this time, fundamental
disciplines for example physics, chemistry. biology. physical chemistry and electrochemistry
were the source of the main scientific discoveries, whereas the development of processes was
carried out by engineers having a high expertise in mechanics and technology. Chemical
engineering progressively became a discipline in the middle of the twentieth century, and two
major, complementary tools fed this recent discipline in its very cradle: (i) transport and
transter phenomena resulting from investigations in physics made previously by Nernst.
Einstein, Navier. Stokes. Planck and Maxwell, and (ii) a conceptual approach in designing
reactors and processes.

According to the passage:

1) Electrochemistry is a basic discipline.

2) Engineers are highly expert in mechanics and technology.

3) Main scientific discoveries were made before World War I1.

4) The development of processes afier World War Il was carried out by engineers.

A conceptual approach is an approach based on A
1) previous experiences 2) logic and thought
3) fundamental evidences 4) important engineering principles

Electrochemical engineering
1) is part of chemical engineering

2) deals with electroplating processes

3) is closely related to chemical engineering

4) is a discipline combining physics and engineering
Chemical engineering was established :
1) the same time as physics and engineering

2) long before electrical engineering

3)as a discipline around World War 11
4) around 70 years ago.,
Transport phenomena is
1) created in mid 20" century
2) accomplished with reactor engineering

3) the basis for electrochemical engineering
4) an important tool for chemical engineering




21-

22-

23-

26-

Passage 2:

Pumps are among the most commonly used machines in the chemical process industries (CPI).
Condition monitoring tests and predictive maintenance can help pump operators determine
when to overhaul pumps in a way that minimizes costs. Despite pumps' ubiquity and large
energy demands, however, relatively little information is available on how to apply predictive
maintenance approaches and condition monitoring to process pumps.

Pump overhauls may occur on a fixed time schedule or as a result of a specific breakdown, but
neither case necessarily represents the most cost-effective policy. In cases where deterioration
in the performance of a centrifugal pump causes a drop in plant production, pump overhaul is
readily justified. because the cost of performing the overhaul is usually small compared to the
losses from reduced production. However, when pump performance deterioraies due to wear
and the only effect is increased power consumption (with no discernable effect on
productions), the question of when to perform an overhaul becomes important.

According to the passage the word “overhaul™ means
1) proper repair to bring the pumps to the full working condition
2) a kind of preventive maintance

3) performing regular repairs

4) scheduled maintenance

There are
1) comprehensive documents for pump repair.

2) well-known programs for pump monitoring.

3) not enough experiences on pump performances.

4) not enough data available for pump preventive maintenance.
If there is any defect on a pump

1) it needs to go for overhaul 2) the pump may continue to work

3) it is better to replace the pump 4) it should be halted immediately

Pump overhaul is always .

1) costly 2) cost etfective 3) a common practice 4) energy demanding
Pump overhaul is justified when ‘

1) it becomes important

2) wear of pump only increases its power consumption

3) there is no pronounced effect on plant performance

4) drop in pump performance results in decreased production

Passage 3:
Evaporators are used in a wide range of processes. including pharmaceuticals, foods and

beverages, pulp and paper, chemicals, polymers and resins. inorganic gals, acids, bases, and a
variety of other materials. There are many types and variations of evaporators. and the best for
a particular application depends on the products characteristies and desired results.

Evaporating differs from drying in that the residue is flowable liquid instead of a solid.
Evaporating is different from distillation in that there is no attempt to separate the vapors into
individual components.

The phrase “pump’s ubiquity™ suggests that pumps i
1) are used in the chemical process industries

2) have high fuel consumption

3) are encountered a lot

4) are expensive



In a number of inorganic industries are employed.

1) polymers and resins 2) acids and bases

3) evaporators 4) chemicals

A chemical engineer must choose an evaporator according to

1) vaporization characteristics 2) the product specifications
3) their size distribution 4) the product capacities

The product in .

1) drying is not flowable 2) evaporation is not a residue
3) evaporation is vapor 4) drying is not solid

Vapors in ;

1) evaporation are useful products

2) distillation and evaporation are useful

3) distillation are separated to different products
4) evaporation are usually wasted
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